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1.Cisco Catalyst 4500 Series switches are attractive to medium-size campuses with growth
opportunities due to the switches' enhanced security and which two other features? (Choose two.)
A.enhanced multilayer software image

B.connectivity to multiple types of WAN connections

C.Cisco Unified Communications Manager

D.QosS for converged networks

E.modular, customizable components

Correct:D E

2.Which two actions, when taken in combination, will result in an effective network security
solution? (Choose two.)

A.develop a policy for securing the network

B.monitor and test network activities for vulnerabilities

C.implement reflexive access lists

D.implement dynamic access lists

E.select and implement a single comprehensive virus protection program

Correct:A B

3.How can mobile devices and wireless networks be secured?

A.by securely deploying new applications with appropriate performance levels

B.by providing security that is based on a multilayer, system-level approach

C.by looking subjectively at network traffic for abnormal flows

D.by requiring a host-based hardware application

Correct:B

4.A new client of yours is experiencing a growth spurt. The client's IT staff is making network
changes manually and, as a consequence, is extremely overworked. You suggest the client
implement a network management system, citing which important business benefit?

A.potential for outsourcing the IT staff

B.provision of an out-of-band management architecture

C.threat mitigation

D.reduction in network downtime

Correct:D

5.The following Cisco Catalyst Series switches fit in the access area. Which switches also utilize
StackWise technology to address the needs of companies with growing networks by allowing
them to connect multiple units?

A.Cisco Express Catalyst 500 Series switches

B.Cisco Catalyst 2900 Series switches

C.Cisco Catalyst 3560 switches

D.Cisco Catalyst 3700 Series switches

E.Cisco Catalyst 4500 Series switches

F.Cisco Catalyst 6500 Series switches

Correct:D

6.What would be able to handle IP telephony and e-business applications concurrently?

A.Cisco Catalyst switches

B.Cisco SOHO routers

C.Cisco 7000 Series WAN edge routers
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D.Cisco Integrated Services Routers

Correct:D

7.Which two benefits of network integration would be critical to a large metropolitan hospital?
(Choose two.)

A.computerization of order entry for physicians

B.compliance with HIPPA requirements

C.improved bandwidth

D.greater fault tolerance

E.reduced chance that the system will interfere with hospital equipment

Correct:A B

8.The Learning & Events section of Cisco.com contains information about certification and
additional Cisco educational resources that enable you to further your professional opportunities.
Which program is detailed in Learning & Events?

A.Software Application Support plus Upgrades

B.Cisco Partner Consultative Support

C.Cisco Networking Academy Program

D.Cisco Partner Specializations Program

Correct:C

9.As customers deploy converged services across the business infrastructure, access routers
must integrate security services and IP communications. Which router series extends intelligent
networking to remote branches and offices?

A.Cisco 700 Series ISDN Access Routers

B.Cisco Integrated Services Routers

C.Cisco 3700 Series Multiservice Access Routers

D.Cisco 1700 Series Modular Access Routers

Correct:B

10.Which centralized systems management product provides a console used to detect, locate,
and disable rogue wireless access points throughout the network?

A.Cisco Aironet

B.Cisco WLA

C.Cisco WLS

D.CiscoWorks WLSE

Correct:D
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